nanosecond

615522 s: Mdev= 0.85540E-14 Tdev= 3040 ps
307761 s: Mdev= 0.74011E-14 Tdev= 1315 ps
153881 s: Mdev= 0.12451E-13 Tdev= 1106 ps
76940 s: Mdev= 0.15583E-13 Tdev= 692 ps
. 38470 s: Mdev=0.19398E-13 Tdev= 431 ps
08/05/14 nxraigrt56832_40.ppp_defaut-12d-15 19235 5 Mlev= 0.28660E~13 Tdov= 318 pe
9618 s: Mdev= 0.45978E-13 Tdev= 255 ps
4809 s: Mdev= 0.64256E-13 Tdev= 178 ps
' 2404 s: Mdev= 0.90966E-13 Tdev= 126 ps

= 1202 s: Mdev= 0.13190E-12 Tdev= 92 ps
£ 601 s: Mdev= 0.20368E-12 Tdev= 71 ps
fg? 301 s: Mdev= 0.36401E-12 Tdev= 63 ps
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